1

K 2.

X 3.

é.

, 4
W(3) 20/05/2024 (4) 20/02/2024

mmﬁ@mmgzﬁaﬁ?w e
(1) TR B i s,
@) TR T s s,
©® T o st arfirfiam,
* jgg‘z e sfreser - arfirfm,
(5) TR T
frfefaa o @ faradt Tt ¥ feg

3 T 3 T3 T ok o e
w fem e ?

(1) stEareT, e, E
2) WTWWM

3) e, g, TR, IR

(4) AR, FFATST, FHlelt, !

(5) ARG ¥H

afeum & forg ¥ q8d Toe™

T e o o
) HIMHATcHD W I

A% Yar AN ¥ afEr e

TEYH R ? -

(1) 31=8% 318(1)

(2) 3ITT 322(2)

(3) =BT 325(4)

(4) 3T 320(3)

(5) FIRA TH

frefefga & @ fopa femme =t witer $AR

TR 3 TIYH I A F
TR T HRITR GHTAT ?
(1) * 20/03/2024 (2) 20/04/202

|
!
|
(5) i w¥ N

T i R s afif o sy | 5.

FHTIAR ? |
1) Fren wheg «1 T mwa,
SAftreT

(2) €HEHIH
(4) T AT

(5) IR

|
(3) foren @ ll |
|

2

ipur Develo
. he Jaipur Pment

By wmqlz A;té; estabhshidA;? |
Authority ¥ Development Atthorit
-

Act, 1984 o
3) Jaipulé 8%9"
(4) Act ¢ Development Authority

Act, 1982 not attempted

(5) Question . f

' f the following group o
zﬁlli(c:glyo states had enacted
legislations on Panchayats prior to

i ce?
indepen. e vara, Bikaner, Bharatpus
Bundi )

(2) Jodhpur, Jaipur,
Sirohi _

(3) Karauli, Bundi, Alwar,
Jaisalmer .
(4) Alwar, Banswara, Karauli,

Sirohi
(5) Question not attempted

Which Article of the Constitution
prescribes mandatory consultation
with RPSC on disciplinary matters
affecting a person serving under
Government of Rajasthan ?

(1) Article 318(1) ’

(2) Article 322(2)

(8) Article 325(4)

(4) Article 320(3)

(56) Question not attempted

From which of the following date
Pramil Kumar Mathur assumed
the office of the Registrar General
of Rajasthan High Court ?

(1) 20/03/2024 (2) 20/04/2024
(3) 20/05/2024 (4) 20/02/2024
(5) Question not attempted -

Who becomes the chairperson of

District Planni mmittee i

Rajasthan ?anmng Committee 11

(1) Chief Executive Officer of Zila
Parishad '

(2) Member of Parliament

(3) Zila Pramukh

(4) District Collector

(5)  Question not attempted

Jopment Authority

Udaipur,

00



16.

Y N

§8.

-

r 9.

00

L(4) =T sl s YR

W=y it & geficar & foe meedk @+
T gy 3g arma TR fehereft & 7

(1) 220,000 (2 30,000
@) 240,000 (4) 10,000
) srafa v

U ga s 1 TafaRt T gro
T ginfy &) Rwie | 6K St § )
ﬁﬁ?&aﬁﬁaﬁwwaﬁﬁwmw

?

(1) T fyum v & fous 6 3

(2) T g wAa Shise wEh
() = AT H BT AT

(5) e

TYH T8 AME ARBR AT &
Fraffaa sremet 3 @ fedi ofe ad
ety gt ) 7 |
(1) I @.%. 3F

(2) —rfd e, Wik 31EHg

(38) —amafd wepry arfean

(5) orgai A
TSI IR Iu-AHIH
Affem, 1973 H 9w 7 F &,
AHIYH B! $S AW 4HET IR A
Jahi & Regems IR H Stw w3 =7
afteer 2 | Tr=fefea & @+ @ e
I e w1 e adi g
(1) IW T R = w=fd o o |
Y AW T W & e & A |
Yo H T A I R |
T =1 R e 1 |
(2) wfeemelt &1 9 sedfgR, Wi |
e IR T % Rgers | |
3) m@ﬂiﬁf%ﬁm'ﬁwm|
|
|
I
|
3

et 8 T e H =h @
FERA R THATR |

4) ?ﬁ*aﬂaﬁmqﬁvﬂﬁ“ﬁm
HIERIRISE

secuﬂti

What is the amount ? tiod 9 to
deposit to contest the le)l(fl((:)nglng
Mayor by a candidaté

the general category ? 7 30,00O
(1) 720,000 (2 770,000

(3) 40,000 (4) ted

(5) Question not attemP r 18

iggion
State Information Commlgslon the
appointed by the GOVG%’Ommittee'
recommendation of 2 ' ot &
Who of the following %
member of this Committe€ ‘tion
(1) The Leader of oppos v
kegislﬁtive Amze{‘ to be
2 cabinet e i ioter
@ nominated by the theféwﬂfte
(3) Chief Justice of High ©©
(4) The Chief Minister 1
(5) Question not attempte

Among the following Chairpersons
of Rajasthan State Human Rights
Commission, who could complete &
five year term ?

(1) Justice N.K. Jain

(2) Justice S. Sageer Ah_med

(3) Justice Prakash Tatia

in

~ (4) Justice Ms. Kanta Bhatnagar

(5) Question not attempted

Under Section 7 of the Rajasthan

Lokayukta and Deputy Lokayukta

Act, 1973, the Lokayukta is

empowered to investigate

allegations against ministers and
public servants in certain cases.

Which of the following subject ig

not part of those investigations ?

(1) Abusing his official position
as a public servant to obtain
illegal benefits for himse]f 0

@ gny otﬁ:lr person. r

2 exual harassment o
caste discriminaticfnwomen’
violence against children and

(8) Can be related to being gu;
of corruption op laciullty
transparency in the o of
of a public servant,

4) ngea_sonable
suffering cause or
servants. d by Publjc

(6) - Question not attempteq

apacity

+



11.

12.

13.

5

(1) 2019-20
(3) 2021-22
(5) IR e
@A & “FYe '
maﬁmﬁéaﬁqmmw%?
(1) ¥ I WA Y swrar 2 |
(2) ugwé-mﬁmﬁﬂsﬁm
AR |
TET IATEH! 1 RS @@y £ srecd
TE B |
TE SIE FHIRIYOT ) e 2 |
FIARG T

3)

4)
(5)
TTH & T TRy O ¥ gey
freferfad 3 & = @1 o e 2 -

(1) & 53 Faw &t =t afres ywreht
s e 2
. /9
amaﬁ%mmw%ﬁ
T “F RN (30 ) gt |
T WM w9 & 99 26.11.2020

! arfergfad fpr e ¥ |

2)

(3) W Prwe % wrted % fir
Fiferra wgert it et @ e
ST T S} a2 |

(4) T P ider wiagf/ a1 ¥ R
b g % w0 § FH W THA
Febreft sromeft e e 2 |

(5) IRA e

férfee = 1 st et & -

(1) '.'-‘Hlllt*mw
g # ]

(4) e R T Fal o
(5)

|
|

|
|
|
|
|
|
|
|
|

4

10.

12.

13.

wing year annual

Gross Natlonal
National Income on
rices and constant
India ?

In which of the ff)’}l °
growth rate
Income and i\leg
both curren ive 1

prices were NegatlVe il o o0 o)

(1) 2019-20 5 9018-19

3) 2021-22
EB; Question not attempted

. wing statement is
Which of the foll o i he “Input
related to the benerit =8 £ QST 2
Tax Credit Mechanism: O .

i id tax on production.

(1) This avold ! lief t
(2) This provide tax rehiel to

start-ups.
(3) There is no need to keep

records for producers.
(4) This avoid double taxation.
(5) Question not attempted
Which of the following statement 1s
incorrect regarding RAJ NIVESH
Portal of Rajasthan ? )
(1) It is a “One Stop Shop” (OSS)
facility directly under Chief
Minister to facilitate large
investment proposals more
effectively and expedite
requisite approvals / clearances
for the same under one roof.
Rules for the One Stop Shop has
been notified on 26.11.2020.
The portal also provides updated
information relating to relevant
rules, regulations, orders and
policy imtiatives and schemes
for guidance of investors.
RAJ NIVESH portal provides a
single point (online) interface
and a time bound clearance
System by acting as a one-stop
lnformatlon/reglstration/appmval

/tracking centre for clearances/
approvals,

(5) Question not attempted

’(I‘ll;e aim of citizen’s charter is not —

& 1t1zen friendly governance

Accountable Government
(8) To Create
4)

System of
(5)

2
3)

4

Qua!ity and
Service delivep

uestion not attempted
00



A4 T o iy waet 7o Gh-11 3 2021.22
S el % et § vt w R
wa;mg | GehdTehi 1 T Y §U
E%E?gaﬁﬁnz

1 -1
A, N T L USRI
. el iii. TerRy
D. grr iv. HERTY
' v. TSId
Thdi :
A B C D
(L) i {1 iv i
(2) i iiov v
A3) iv v 11 111
4) 1 i i v
(5) Irgid w

15, wRa § “Te wr g st (NFSA)

% gay I frefead sedl w Rem iR

X 16.

00

A. Tg 5 AR, 2013 I AaFafa R |
B. SqwH ¥ T 50 Hie AR TEHE
e e rffrm % Jr=id 3 § |
C.Jg ffam &t 1 & 75% Anfior
TG TR 50% WEE G I Afeket
IR W 9T i ! SARHR TR |

Gehelieh! T FANT HTd FY HE I <A

() AWBYHIEE

2 ATWCINENE

(3 ABWCHIEI

(4) BT CIwEEI

(6) FFT@IE

wra o gErehifa & el & e J | we

/A FA T R/E ? .

A, FR ggrehif 3 @rer 3ft it Y Hid
it @A 2 |

ﬁﬁa@@mmmaﬁww
A

gﬁa;am&aﬁtca) ¥ B3N C
¥ae C (4) Faa A IRB

3

i
|
|
|
|
|
|
|
|
|
l

5

14.

15.

16.

-al
. .ulturd
In List-I, the names .Of agglt‘iII’
crops are given and 11 Lx

names of the states W '°f these
first in the productio® " pfatch
:}t;ops }i)n 2021-22 are giver-
em by uging codes :
List1 oo ListdL
A. Nutricereals i. Raiasthaka
B. Total pulses ii. Karnatapradesh
C. Groundnut  iii. Madhy2 ‘1t .,
D. Soyabean iv. Maharas
y. Gujarat
Codes :
A B C D
(1) i i iv i
(2) i i v v
@) iv v i il
@) i i v

(5) Question not attempted

Consider the following statemer}:s
regarding “National Food Security

Act” (NFSA) in India :

A. It was enacted-on July 5, 2013

B. Around 50 crore persons have
been covered under NFSA at
present.

C. The Act legally entitles upto

75% of the rural population and
50% of the urban population to
receive subsidized food grains.

Choose the correct option using

codes :

(1) Both A and B are correct.

(2) Both A and C are correct.

(3) A, BandC are correct.

(4) Both B and C are correct.

(5) Question not attempted

Which of the following statements
is/are correct in respect of inflation
in India ?

A. Core inflation include the
prices of food and energy.
B. Headline inflation excluge

food inflation.
C. Headline inflation js
S ore
volatile In nature thgp
inflation. M
Select the answer using the
given below : codes
(1) Aand Conly (2) B anqd
(3) Only C (4) A and
(5) Question not attempted

C only
B only

+



17. Eﬁaﬁmmﬁmﬁ -

X

18.

19.

ERIEICIR
BIRNG]
STEEAT &1 Sfayrg

(4) Wﬁﬁﬁ-ﬁﬁ-ﬁww
FIRNK

(5) ARG I

WﬁlQQI%W%RWm%
Wﬁﬁwﬁﬁﬁ?mmﬁaqﬁ%?
(1) R-Inferesrt vhemfgt

2) TIRAW. affem (R
(3) wXHHE Irfrfay

4) IS wateqar

(5) HTuRa w¥=

fovs guETeht fod - 2024 % mef 3
7= Pt w foram 6

A, WA & WM 140 ¥ 1R 29t §

126 o, St T 3% wgieht At i,

AT, W, RIER, e 31k
Teen & ft A g

B. ﬁﬁ%a‘ﬁﬁm%wﬁﬁg@i

%Wﬁaﬂﬂﬁgan%,agm-g!

% e % e o g § |

g R wfodigdd) |

e g2t &1 s w5 I o |

e Fi l

(1) s B ;

|

|

|

6

(2 AsRBaA |
(3 TARAFRTEB
(4) FaaA

(6) IANG ¥

17.

18.

19.

Worker to Population Ratio (WPR)

zsl)def;’r:ai(ciei:age of employed persons

in working age population

(2) Percentage of Tmployed
persons in total population

king age

entage of wor |

@ Iljsgfllation in total population

(4) Percentage ©of  employed
persons in labour force

(5) Question not attempted

I f the following 1S not
ZZ}s];z}ilate?i with financial sector
reforms in India initiated after 1991 ?
(1) Non-performing assets N
(2) F.RBM. Act (Fiscal Responsibility

and Budget Management)
(3) SARFAESI Act
(4) Capital adequacy
(5) Question not attempted

Consider the following statements
regarding World Happiness Report —
2024 :

A. India ranked 126t out of more
than 140 countries, which is
lower than its neighbouring
countries  including China,
Nepal, Pakistan, Myanmar, Sri
Lanka and Bangladesh.

B. India’s ranking has remained
relatively stagnant over the
years, indicating  limited
progress in improving the
overall happiness and well-
being of jtg pPopulation.

Select the correct answer using the

codes given below :

(1) OnlyB

(2)  Both A ang B

(3) Neither Anor B

(4) Only A

(5) Question ot attempted
00



20,

22.

00

TS @y i — 2024 % @& &

Mﬁﬁqmmm?ﬂﬁ%

A. 9§ 9046.47 T TIW T JTEH 1
e fRml H a1 2029-30 T 50
TR yfRET ) TR TGH HT |

B. TSy % geel TS0 Wi 39TE ® @i
&3 H7 e 2023-24 F 3.4 vl
¥ W 2029-30 T b whwa 3

. 2046-47 T 8 AW T BT |

C. @ ¥ ayia @il 6t w& H
2047 T SgTH 58 ¥ 70 HTT |

SRF FUA FIPHAFA TGS 7

(1) FaABIRC (2 FTAAIC

(3) A,B3RC (4) HaaAINB

(5) FAgaRawH |

T 3 et wTs ot Fmior & faft=

&5t F ATer 1 U g E § TE FE R

(1) fmtor, Sfy, fafmio, &=

@) Tutu, faftmio, Ff, @

(3) fafmior, i, @, Fwio

(4) fafwrior, @, Y, fmio

(5) FARG T

TR ¥ Tt u1e o way o e

4$ﬂ‘ﬁﬂﬁ3’ﬂﬁ: PO

A =¥ 2022-23 & AR TR
o121 T el BRe]. 3G 1 3.76
SR @2 |

B. 9% Wh.IRHA.w. HfufEm, 2005
O S M AFAR |

c. af 202223 % UM W
2021-22 Y g # a1feres o |

@ﬁmﬂ-ﬁgﬁﬁ:

(1) Ad Biﬁﬂﬁﬁl

2 BaCIH @RI

(3) A,BHCWHﬁﬁl

®) A I |

~N

20.

21.

22.

kY,

- (5)

e
Consider the following Stat?arsthan
regarding targets O Ra]
Mineral Policy — 2024 :
A. Provide employme?,

lakh people by 2027
over 1 crore people (di
indirect) by 2046-47- ectof’s
B. Enhance the minera} spP
contribution to staté? 3-2
from 3.4 percent in 2
b percent by 2029-3
percent by 2046-47-
C. Expand the numbe
minerals under
from 58 to 70 by 2047-
Which of the above statement
correct ? 1
(1) Band Conly (2) A and C onl}’
(3) A, BandC (4) Aand BonY
(5) Question not attempted

The correct share of various sector

in Gross Fixed Capital Formation o

Rajasthan in descending order 18

Construction, _ Agriculture,

Manufacturing, Mining

(2) Construction, Manufacturing,
Agriculture, Mining

(3) Manufacturing, Agriculture,
Mining, Construction

rect an

g are

(4) Manufacturing, Mining,
" Agriculture, Construction

Question not attempted
Consider the following statements
regarding  fiscal deficit of
Rajasthan :

A. The actual fiscal deficit in the
year 2022-23 has been 3.76
percent of the State GDP.

B. This is less than the limit

prescribed by the F.R.
Act, 2005. R

C. The fiscal deficit of 2022-
higher than that of 203129 " 28

Choose the correct option :

(1) Both A and B are correct
(2) Both B and C are correct,
(3) AllA, Band C are correc.t
(4) Both A and C are correct
(5) Question not attempteq



\/23,3@ﬁaﬁmmﬁhﬁwmizs.

afsg (CMRETAC) % wrm w fiferfiaa

(1) T SR SR gty we
YA (RITT)

(2) T HER 37 vgaiee dewreiioh

3)

(&) TR TR TS o e

f 3 (RSLDC)

(5) IIARd w7

24, fafafea 4 @ 9 7 9T /S RIICO

X 25.

BT TR 3 feresfira 7 fopar e 2
(1) e R fepet — s e,
urh

AR
(2) WY Ty T oot — gy,
EiC| fyard
(3) TiEE U ~ IR

(4) U=ew Afewe — SRMTe,

[ECIECRIED S
(6) HATafa g
WTE # Te % R $ o1 gE e
T fraeies—-

(1) 3Om FadT W I<REF =R
fovm gra

e darga =g g

Ty &g 3Em fm fafe
(TSrefent) gra

JANT T et T g

AiE a9

@)
@)

(4)
(5)

|
|

i
H

|
|
|
|
|
|

8

|
|
|
|
|
|

24.

25.

following has beey,
Which of the e of Chief Ministey,

in place <
formed in P . Transformatj,,

. o1
R ouneil (MRETAO)
1) Rajasthan Institute g
( Transformation and

Innovation (RITD)
‘Rajasthan Centre of Advanceg
Technology (R-CAT)
jasthan -
i:;eevika Vikas
(RAJEEVIKA)
Rajasthan Skill and
Livelihoods Development
Corporation (RSLDC)

Question not attempted

(2)

3) Parighag

(4)

®)

Which of the following park/zone
has not been developed by RIICQ
in Rajasthan ?

(1) Integrated - Jamwa
Resource Ramgarh,

Recovery Park  Jaipur
Sports Goods — Khushkheda,
and Toys Zone Bhiwadi
Agro Food Park _ Udaipur

Medtech
Medical

Devices Park
(5) 'Question not attempted

Ease of Doing Business ranking for
the stateg in India ig released by -
(1) Department for Promotion of
Industry and Internal Trade
Investment Promotion Bureau
Rajasthan Small  Industry
Corporation Limited (RAJ SICO)
“Partment of [pqustry and
Ommerce

QUestion not attempted

@

(3
(4)

— Boranada,
Jodhpur

(2)
(3

(4)
(5)

00
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27.

&8.

00

26.

—I # gef-11 & Prem Hifd o
¥ 9 f@ ™ F F W w5
HE I 57 794 I -
-1

-1

(3§ 2023-24 & T (¥9T)

T fawfia R M

ﬁ@@@

. 1.

T . ?;1:%3
iii, |TEW

TS K@ iv. qreft

A B D

v i 1 1
2) 1 iv iii
11 1 v 11

iv i i i

(5) IFgARa T

.. g R g feredt A % ad |

faffea i d s a s wdi g ¢

() 9 A1 S & & 1€ 300 e Th
Tw facrelt St = % T
FAg T WER G wfi foR SRR |

(i) EHeM TR §IF TG W 7 30

R ARICRIC]

(iii) TS GofiHOT, TG, Tipld
e 6t v fawra ATAerTE sHaen

(iv) TAH HAEH HI 4 TwE § A
T 0T & T I

@) @), GG (@) G) ()

@) @), @3Ma) @ @G MG)

(5) HIaRA A

T TR 3 T-8vg A af 2024 7

ofya 1 & | 78 T @At —

(1) 319, 2030 T iyt 7 A b
HIYoT 814 9%

(2) 317, 2032 T 3ty 7§ A bl
|01 811 9%

3) 30 I, 2029 e Iy % Afd H

Y1 814 deh

4) 31 WrE, 2029 e e 7% HAifd hl

YT B &

(5) HAFARG TH

|
|
|
|
|
|
9

26. Match List-I with List'II using

e
and 5%y e

the correct answer D) ts:
codes given below the 11 L'ist—II

List-I e
(New Industrial areas (Plac )
developed by RIICO
in the year ~ .
A Nop ona2d) Udalg’;;r
B. Dharmpura ii. Jha o
C. Unmriya jii. Barm
D. Maal ki Toos iv. Pali
Codes :
A B C D
(1) iv i i i
2 i iv i i
3) i i iv il
4) iv i i i
(5) Question not attempted

27.

28.

Which of the following statements
are correct about PM Surya Ghar
Muft Bijli Yojana ?

(i) To install Solar plants on one
crore houses to provide upto 300
unit free electricity every month.

(i) Provision of 30 percent
subsidy for setting up rooftop
solar plants.

(iii) 100 percent online system for
registration, application,
approval & grant.

(iv) Provision of loan at bank interest
4 percent to each applicant.

W O@&E (@) @) & )

(8) (@), (i) & () @) () & (iv)

(5) Question not attempted

Rajasthan Government anno
M-Sand Policy in the year “21(1)c2ef
This will remain in force — '
(1) until 31 March, 2030 or tj)
- new policy 1s announced a
(2) until 31 March, 2032 or till
new policy 1s announceqd a
(8) until 30 June, 2029 op till
new policy 18 announceqd a
(4) until 31 March, 2029 ¢, 11
new policy 18 announceq a
(5) Question not attempteq

+

192



29.

=

3

,33.

= (1)

142

1 FeH IR o 7 sdem 2 ,

(D 9 SAf/

e e &1

Emw%?mr FI =t wfenot

e & WET @ .

e & N T e e

Afeafa § arig) . SPIC

B}W% 2 37[ !Ha;lélﬂ; LS| ‘jw
(2) ==

(1) HEIEEIE
(4) WM

(38) IFU
(5) TFRA e

(A) bar (B) Pa
(C) torr (D) atm
g faereq &1 997 i

(1) %= (B), (C) W (D)
e (A), BYTE D)
T+t (A), (B), (C) @ (D)
(4) % (B) T (D)

(5) gAld ST

e WEh & faeE wriEd
(ZRO1-IIT)” 1 G&T e & —

(1) wigd &1 4 feerer Riem 3 gun |
(2) e YL, Trewar I R & |
we 1 I arel! Yanati 3 GuR |
Raewiw ol

(4) gt 8 & Tereed AenaT § AR |
(5) IrgTid S
T T T AT
FHIAE ?

U2)
(3)

(4)

(3)

(2)

@ e A A %

rfaRrd 1 e 2 71 38 SAH |
RSy ey 1 Ao % AT

4
4 il

5

29.

30.

31.

32.

Mukhyamanri Svamidnt Yoiana of
Rajasthan aim? tOST families
() cmpower street ontoe
pr

3) empoweé

& lactating worﬂi‘zmilies
(4) empower ted
5) not attempte

Question :
the mnatural lep
In cataract because of Chang:

becomes C%Otl}lle follovying ?

in which o
?11>w Carbohydrate

2) Fat

gB; Tear glands

(4) Protein

(5) Question no

Which of the following are units of

th essure !

e P (B) Pa (O) torr (D)atm
correct option :

Choose the
Only (B), (C) and (D)

Only (4), (B)

Al A), (B), () and (D)

Only (B) and (D)

Question not attempted

The main objective of “Rajasthan

Urban Sector Development

Programme (Phase-III)” is :

(1) to improve school education in

urban areas. :

(2) to improve service delivery in

water supply, sewerage and

sanitation.

to construct new roads.

(4) to improve health services in
urban areas.

(6) Question not attempted

Who among the following are
eligible for Aastha Scheme 1P
Rajasthan ?
(1) Specially abled category
persons dwith more than
percent disability.

BPL card holder}s,.

Families in which 2 or mor
people are specially ableg
;ategoiyd with more than *
ercent disability.

Persons with Sgecially abled
category.

Question not attempted 00

anq

t attempted

(3)

(2)
(3

(4)
(5)



35.

36.

\}8.

1A43)

00

B @ @18 @A H Pfern
FA ¥ fapfya G DA Ty @
Tt s amwn e ?
(1) QRSAM (2) VL-SRSAM
(83) VSHORADS (4) Akash-NG
(5) I
frafifgg & @ ®9 @ SUT qfFy
AR whe QER (AESA) % fg
TR ? o
(1) forga S5 31 TH T TS 39 R A
fowar 2 |
(2) %m-m@aﬁﬁ@w
I R R |
@ s 7R % w9 fmm &
fore argegfi fopa T Teher R |
(4) TS Tl b o HH A TEH TER |
(5) IFARA ST |
Dot R w1 J-3F TW BT R,
TR &9 § g |
(1) w3 areh wEe @
@) Rort-ged 3 Tl BEe §
@) M= H | |
fHeTfE @
I

3)

)

| fog e e & g

(AT) % T & T} heAl Y TR i -

A, FTRRATH AT %1 T STEYE ¢ |

B. v st 3 il fasft Ser < fom
e fere b SRR R ST ® |

C. Tl st 37R et % mew & HiEd g,
3 3% TaeH TR % R iawet
e g | |

Fad A 3R C

(2) %aa B3R C :
(3) A BIRCEAFATARI
(4) %I A3INRB

(5) Jo5!
ﬁﬁmﬂﬁﬁmémﬁwﬁiﬁ
IoT%msﬁfﬁamﬁamﬁ%m
3qnT Y A R

(1) TREIHTR (2) Jgash A
A A (4) TRy T
Fafa T

%
Ay,

(5)

11

34.

36.

36.

37.

38.

8

ma?
What is the name Of thesyst?m
portable air defenc® utrahze
developed by ‘DRDO’ t0 ne

aerial threats ? SRSAM
(1) QRSAM (2 VL7 'NG
(3) VSHORADS (4) Ak2%

(5) Question not attempte

Which of the following state™s

incorrect for Active ?

Scanned Array Radar (AESA) clude

(1) The radar features dln
wide band RF front en¢:

(2) 1t is sfqlid-state iaCth:rp
array fire control rd . arious

(3) It can be adapted for VAIle
types of fighter class of a1rc king

(4) It is not capable of trac
multiple targets.

(5) Question not attempted

The fourth generation biofuels are

obtained from genetically modif1ec -
Starch yielding crops
Ligno-cellulose yielding crops
Algae

%4; Archaebacteria

5) Question not attempted

Regarding Artificial Intelligence (AI),

identify the correct statements using

the codes given below :

A Machine learning is a subset of AL

B. Supervised learning involves

training a computer system
without labelled input data.

C. Machines learn through trial
and error, receiving rewards
during reinforcement learning.

Codes:

(1) OnlyAand C

(2) OnlyBand C

(3) A, Band C all statements are

correct.

(4) Only Aand B

(5) Question not attempted

Amon the followin

identi%y the one which 1gs u;ggetlfs,

wireless connection in IoT devie or

(1) Perception Layer es:

(2) Network Layer

(38) Transport Layer

(4) Application Layer

(5) Question not attempteq



. 40.

41.

_42.

43.

45.

= = 98 % IND-
AQI lg?_rrr 200 Fﬁmaﬁm;gggm 8ot 3
(1) wdwsd s (2) weam
(3) wfen (4). =Y
(5) Irgala ye
ﬁmﬁfﬁaﬁémmmwaﬁﬁq:
(1) 3@ 911 & W 7€ ¥ § wey-
TH FARA S |
A % A s gEn
W | 3 Jae Bt § |
1 13 T o1 e whvem 6 i § |
(4) I 9 @ o i ywr ¥
FHEE & |
(5)  rFiE s
aﬁtﬁqw—zﬁa@mﬁaﬁ'&g@é
T fasfya wra #1 TR M-
1) 3
(8) dE@d
(5) 3R ww
wﬁrﬁwﬁ,ﬁgﬁwm@ﬂwé,
fraferfea & & frah i A Qe @ -
(1) " (2) FrEfEEIen
(3) wiftam (4) fochifrm

(5) - Irguitd F¥

(2)
(3)

(2) wEd
(4) HIEY

39.

40.

41.

42,

43.

4

44,
5.

following artjg, .
hg:f% the highest sweq txféal

arison to sucroge ?

2)  Sucrologe
§4§ Aspart:-‘un.e
ot attempted

Which of
gweeteners
value in comp

Alitame,
g'lé Saccharin

5) Question T lowing i .
g he fol 9w1ng 18 g mlcro_
Ximlé?alof ftourld m AUman: hog,
M Suiphur @) lodine.
sium y 8 01'11.
§g§ IQ\Q/ISegQ’,?OH not attempteg K
incorrect set of «
tse;(fgatll gleector — Disease caugeq _
ype of Pathogen .

(1) Culex — ymphatic Filarjag,
— Parasite )

2) Anopheles — Malaria — Paragit,
3) Aedes — Dengue — Virus

§4§ Aedes — Chikungunya

teria

(5) gi%stion not attempted
According to Central Pollution Conty
Board, the Air Quality category fo
IND-AQI range of 101 — 200 is
(1) Satisfactory (2) Moderate
(3) Poor (4) Good

(5) Question not attempted

Select the incorrect statement from
the following :
(1) During El Nino, there are
fewer phytoplanktons off the
coast.
During La Nina trade winds
are stronger than usual.

| Nino & La Nina are the
chmaj;e patterns.

@ El Nino and La Nina are &
kind of storm.

(5)  Question not attempted
India’s Nano.- ] lant
TEAR - CIHC0T
Bamboo

Ri 2
lce 4) Cotton
uestion not attempted :
' 1.{001.’ . a formf .ené);
: n, is il
of which of the f(f a(l)lv?i}g b’}, e

: 2) Carbobydrat®
) ShrOmmm 243 Selenium

@)
@)

00




46. Toem qRE @ Ya-Rf afee

x

49.

00

. TR (SCHEAT H5; 1 TM) Y Hiew-

U3)

(51-2) 3 e 3 et e 1 9 AT |
(1) 3o 18 e w@ 8 I=sfta anmmvd
i g |

g ohde ¥ og we mifEn
Iy areh Feefya fpumu § |

39 qREe # e W
aftfera T T R |

R T IAEE i wiE (@
aTé i Q) GRT FEHAT NSH 6l 7 |

CERIGRS]

2)
3
4)
®)

11 SEnfeht wael) @ gafea &= fou
Fol ) wErrd @ T IT HT T KT :
HieH-1 Hiaw-1T

A. s=f () M
B. W MSel (i) Hded
C. d@eE® (i) 3R
D. wudt (iv) &G

(v) @

A B C D
(@) G (@) @)
i) (v) @) @
(iv) @Gi) () @
(4) Gi) @ G @)

(5) IFaRA A

T Ty g faw e 17 e e § @
$ @1 gad fem @& (SDG) R &1 &
“zeorefia Ae” (Life on Land) Wi 2,
foraen! v vl TRfeufess o 6t g,
G 7R Fd 3T I G oAl @ 7
(1) SDG14 (20 SDG15
(3) SDG16  (4) SDG 13

|
|
|
|
®) e |
|
|
|
|
|

®<:

(1)
(2)

18 3 @ i g fore +t e T R
St T YHTHEX

Tt 1 gIEGITeR

St T aHiet

Site &1 gquT

ATaRE I

(1
2
3
4)
(5)

46.

47.

Doms»

. Which Sustainable

t

Select the incorrect Stateg;i;‘ly
regarding the Rajasthan Fore.z).
and Biodiversity Project (Phas an
(1) It covers 18 districts

8 wild-life sanctuaries. .
(2) Abheda and Machia BIOI(iglcea |

Parks have been develoP

under the project.
(3) Water Conservation has 'alcio

been incorporated in the projecs

(4) It is assisted by Japar;_esg
International ooperatio
Agency (JICA).

(5) Question not attempted

Match Column.-I (Location of the
Center of Excellence) with Columnd-
I (the horticultural crop) an

select the correct answer using the
codes given below :
" Column-I Column-II

Bassi (i) Mango
Sagra Bhojka (i) Custard-apple
Devrawas (iii) Pomegranate
Khemri (iv) Guava
(v) Date-palm
Codes:

A B C D
M @ G G )
(2 @) (v) @) @
(3 (v) @) () @
(4 Gi) @ @ )
(5) Question not attempted

Development
Goal (SDG) under 17 global goals
given by United Nations
specifically focuses on “Life on
Land”, aiming to protect, restore
and promote sustainable use of
terrestrial ecosystems ?

(1) SDG 14 (2) SDG 15
(8 SDG16 (4 SDG 13
(5) Question not attempted
Red List of IUCN is known as
(1) Life Thermometer

(2) Hydrometer of Earth

(83) Barometer of Life

(4) Mirror of Life

(5) Question not attempted



at&trrwnﬁ(l)am(n)aqﬁmqﬁ
| T fashea &1 gt .
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W™ F oo
AETH g 6w
@ =g ¥ arem wwR
$ wEA I
=R |

afvaromd : (1) % waer 3+t Qg &

(1)
@)

@3)

(4)
(5)

ot gEh A

(IT) 3fE TR g & arem

YHR H ®EA I
Sht 2, o frdt & Rt
ft 7R % afafe
NYFH -] I e B
e & foerpe oft
HATITIHAT T81 &l |

Haet YR (11) safifed & |

O @ 1) A Afreremd

Jr-afifga g |

T @ afEron ) Ik oW &

Jfdrmon (I1) SA=ffea ® |

FHaer JAfEREn (1) A=HEd 2 |

HARd T

. 51 Frafefen & @ qowm «1 w9 @ w1
gha M & Ao | Y@ e

1/52'

ASA A GIR ?

(1) et (2) e
(3) et (4) W
(5) AR W

w2023 # 9=, yRa h YA FfA
T T R T AR 7

D
@)
(5)

fir (2) YRIREH
i \(i)mfémﬁ
T
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50.

51.

|
|
|
|
|
I 52.
|
|
|
|

estion given  beloy,
4 two assumptions @

In the qu
gtatement an

d (1) are &l e il
it?rrec(t czption from the following

der to replenigh
nt : In 0rC lenis
Stat?}:::enutrients in the soil, it ig

important 0 grow different

n

types of crops every
alternate season-
Assumptions :

A crop can never ‘pe grown for
the second time 1n the same
field.

If a different crop is grown in
the successive season, np
additional nutrients such ag
fertilizers are required to be
added to the soil at all.

Only assumption (II) is implicit.

Both assumptions (I) and (II)
are implicit.

@

(1))

(1)
)

(8) Neither assumption (I) nor
assumption (II) is implicit.
Only @)
implicit.

Question not attempted

4) assumption 18

(5)

Which of the following village of
Rajasthan is transforming itself to
a zero-waste model with the help of
Green Technology intervention ?

(1) Devmalj (2) Naurangabad
(3) Aandhl (4) Menar

(5) Question not attempted

Ganga», India’s first cloned cowW

born in Maych
) 2 to
which breeg ? 023 belongs

(1) Gir

(2) Tharparkar
(3) Nagauri o

(4) Sahiwal
(5)  Question Not attempted

00
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00
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(5) IFTRAT

A fow Ty F A Y S TR Q
s (1) e (ID) A 71 & | 3ol e
T Ferl w w2 | e B
wow, TRART |
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of} forg, Tifheh 2 |
1% off mifesw, o T |
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frspd: (D @@mﬁmmﬁm%l !
a1 oo fum g |
aﬁﬁwéa)avh(n)aqgwml
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|
I
l
I
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(D

(ID)

2
3

(1)

Yot frsrd (T) TG HLaT 8 |
e s (1) STl e € |
1t s (1) 3R 1 & Forsard (10)
YA el & |

IaRa

3)
4

6

15

-

53.

54.

A statement is followed by tjﬂﬁ
arguments (T) and (IT). Choose WP
of the argument(s) is/are gtrong-
Statement : Should every house
use solar energy I orde.r -to
reduce the need of electricity

in Rajasthan ?
Arguments : :
(I) Yes, it will conserve O
resources and it will Pro
environmental compatibility-

No, solar panels are costly and
all the house owners cannot
afford it without subsidy-

Only argument (II) is strong.
Both of the arguments are strong.
Neither argument (I) nor
argument (II) is strong.

Only argument (I) is strong.
Question not attempted

ur natural
mote

1)

(1)
()
@3)

(4)
(5)
In the question given below, three
statements are followed by two
conclusions numbered (I) and (II).
You have to take the given
statements to be true. Read the
conclusions and given the answer.

Statements :
Some symbols are figures.
All symbols are graphics.
No graphic is a picture.
Conclusions :
(I) Some graphics are figures.
(II) Some symbols are pictures.

(1) Both Conclusion (I) and (I)
follow.

Only Conclusion (I) follows.
Only Conclusion (II) follows.

Neither Conclusion (I) nor
Conclusion (IT) follows.

Question not attempted

(2)
3)
(4)

(®)



55.

56.

A

v
-1

58.

)

G RER R

(2)

7 Aoft 1 avTen g R
2, 12, 36, 80, 150, 9

252 )
3) 270 )

(5) IIRA w7

W ® W A PROJEOT @)
‘CEOPRT’ H;T (PLANE’ Eﬁ ‘ELNP’ 3
frar S 2, @ o T Tefh &
‘ORGANISED' ! vy sy

(5) TG wxA

268
210

TR Q1
mﬁwa)wﬂb?ﬁﬂé§|ﬁqﬁ
2 T faew =1 gfyu
H O T W AR H
A% wN g Ao
HOACH HH §INT ¢ |
T A= B A
T =T AT GH: HaH
II) TA= T = 39

frafafr: (1)

HaqH &l feham |
Hae (I1) T FATR |
T D MAE (1) FgET R | |
QHFT (T) e (1) eV % § | |
(4) (I)WW%I l
(5) I |
et 701 T weremm fog
?Is:ﬁ 3 wmml
|
|
|
I
|

(1)

@)

I w | W@ o wvE s
gttt e £
(1) 16
3) 24

(5) TG g

(2) 20
(4) 8

16

565.

56.

57.

58.

the followh1g

Next term 1D
sequence 18 :

2, 12, 36, 80, 150’12-) 058
1) 252 2 210
270 (4)

3 t attempted

(5) Question no
In a coding system, ‘PROJECT i

i ‘CEOPRT’ and ‘PWE’
iv;rzt:'?;ltef as ‘ELNP’. Then, in the
same coding . bSYSt?al the
‘ORGANISED’ will be written as :
(1) ADEGIROS (2) ADEGOIRS
(3) ADEGIORS (4) ADEGIOSR
(5) Question not attempted

In the question given below, 3
statement is followed by two courses of
action numbered. () and (II). Choose
the correct option from the following :
Statement : There has been legg
voting in this Lok Sabha
election as compared to
previous Lok Sabha election.

Course of action :

(I) The election commission
should announce re-election
for Lok Sabha.

(II) Election commission should
cancel the voting rights of the
people who did not vote in this
Lok Sabha election.

(1) Only (IT) follows,

(2) Neither (I) nor (IT) follows.

(3) Both (I and (I1) follow.

(4) Only (1) follows.

(5) Question not attempted

Eight equidistan

‘ t points lie on a
circle,

Using these as



B9, T 39 Yarfum & w1g =w fshey fRw o

62. fog

00

® | 39 ey & =9 HIRE N 5@ A
i & g wd Fefa & |

A1)
(2)
3)
4)
&)
T dur & 37l quieTe (I 3Rl §) F
siwt & wfafaes 1 sraeie foham S
2 | o ¥ 3 wffest it e e g,
?mwm@%%w%@ﬁﬁaﬁ
?

(1) 14 @) 15

3 16 (4) 13
(5) I T o

& qiEn i B: 969 A, B, C, D, E 3R
FE |BaifagCagme I F, EH
a2 3D, FR TR IARGRER
M CH IFAR | TREr F 3 fefea
AR IfmiasA@Ede? o

1) C,AHa@g|(2) C,DHRTARI
L(3) E CHRIEATI (4) B,E®I T2 |
(5) IFaRa I %

A A e X o i 3 =
QIO AT & | 20 HiE I & 91G 9 foig
B W gl # | 374 9g 9l AR ggH 20
thex Se % a1 frg C W Tgsral & | 3T
aa45°amﬁéﬁmﬁgsm,zo\/§xna
Wﬁgqugam%,aﬁ,—gAa
farg D I T G R ?

(1) 40 HX 2) 205X
@) 40\BHE (9 20\3H

(5) AN T

17

59.

60.

61.

62.

A Venn diagram is drawn folio“';ﬁ%

by the four choices. Select
correct choice which represents the
given diagram.

Universe, Planets, Stars
Income Tax, Sales
Service Tax

Library, Books, Furniture
Teacher, Mother, Doctor
(5) Question not attempted
Images of consonants of the
English alphabet (capitals) are
observed in a mirror. What is the
number of images which do not
look like their original shapes ?

(1) 14 2) 15
3) 16 (4) 13

(5) Question not attempted

A, B, C, D E and F are six
members of a family. B is married
to C. F is the mother of E and D is
the daughter of F. A’s daughter is
E and C’s son is A. There are two
married couples in the family.
Which of the following is correct ?

(1) C is mother of A.

(2) Cis grandmother of D.
(3) Eis granddaughter of C.
(4) B is grandfather of E.
(5) Question not attempted

Mr. X starts walking towards south
from point A. After walking
20 m., he reaches at point B. Now he
turns left and walks: 20 m and
reaches at point C. Now he turns
45° anticlockwise, walks a distance
2()\/5 m and reaches at the point D.
What is the shortest distance
between point A and point D ?

(1) 40m (2) 20\5m

(3) 40n/3m (4) 20\/§m
(5) Question not attempted

(1)
(2)

(3)
(4)

Tax,



63.

64.

65.

. Frafmifrm tymfamd

ST F 0 A 219 6 w1 23 @ &

wﬁﬂé_ﬁ:.:,OOO 4 10.5 frehum s
e TG FHA R | 7 81 3 e =16
mnﬁﬁwﬁm&aw%?

(1) T30 @ T40

3) ¥1b6 1) T2

(5) 3TINRA W

T 8,000 H T W v Ry R
Y & 3 1 o v 2 ¢ 3,600
IR IE ISR S R - S
FYS S T S R, 2 W %
S F Ihefg ST g
(1) 10,648 2)
3) T2,648 (4
(5) HITRA Fe

& S e 5, 12 stk 13 T § |
Uh AEd SR T R, feewr e
Be & Swet % SR & | 3o e
10 T3 B, 9 379 1 9Rwmg 2 -

) 265K  (2) 1378

(3) 40%FE  (4) 30

(5) ARG I

< 2,248
10,248

(1)
©)

(5) Irgafd ywA

14
18

(2) 16

(4) 12

. T fRo 3 wr 1000 Pret el P

1
|
2, forerd qu it ot o7 13 3:1 % 1 |
ﬁ?‘:‘:ﬁ(ﬂﬁ%&Zaﬂma‘lﬁQmi
mﬁaﬁmaﬁm%laﬁa‘rwl
ﬁﬂﬁﬁmﬁﬁszoﬁvﬁ?ﬁmﬂml
T8 T % o el B | A9 = g e |
A g e g R 7 |
(1) 912 f=ft efter (2) 750 fireft efiex
\48) 720 Prcht ehiex. (4) 1000 foeh ehrex |
(5) TARA w¥ |

18

63.

64.

65.

66.

67.

1% in the price of

A reduction of erson to buy To

rice enables 300 R
or ’ 6
lr{egdlrxrégﬁeprice of rlf;)pe; 1;3 .
0
2:1)’; :?5 4) T20
(5) Question not attempted
The simple interest on a sum ,

certain rate percent pe,
zrg‘,l?l(r)xcl) ?'(fra3 years 18 T 3,600. If the
A terest is compounded 8-monthly o
the same sum at the same intereg

rate, then total compound interegt
after 2 years e

(1) 10,648 (2) 2,248

(3) 2,648 (4) %10,248

(5) Question not attempted

The sides of a triangle are 5 19
and 13 units. A rectangle jg
constructed, which is equal in are,
to the triangle. It has a width of 10
units, then the perimeter of this

rectangle is :
(1) 26 units (2) 13 units
(3) 40 units (4) 30 units

(5) Question not attempted

How many triangles are there in
the following figure ?

(1) 14 (2) 16
3 18 (4) 12
(6)  Question not attempted

A housewife has 1000 ml of mixture
hat contains milk and water in the

ratio of 3:1, She adds. 950 ml o
mixture ! '
ratio of of milk and water in the

m] of thg:2 in it. Then she uses 280

€ combined mixture to mase
eurd. How mych i

m the mlxture re
(1) 912 )

of pure milk 15 €
mained ?

(2) 750 ml
% /20 ml (4; 1000 m!
9)  Question not attempted

00



68.

69.

72.

00

L

otaTe 3 g@ renT-3Ter e Ry # |
Ry aed @ wte ol 9@ =
TG TR § | A 3 W) Y wEn, fe
Q7 T &R e TR, |

(1) 30240 (2) 99748

(3) 99784 (4) 69760

(5) T
QY T Y T T e T ITH BN aTelt Geat
T AN T TSI T B Y TRk R

W 3 @

r~

® 19

(5) FIARd T

TR &) ) AT &R o AT 3 wR
ms%ﬁéﬁa,ém,wﬁﬁaaﬂtw
3 T & Iy TR fm, e g
359 19 1 Ry R T R ?

(1) SAR301 (2) TIR311
(4) I 300

(4)

N j—= r—alo,

ﬁqﬁ?ﬁmwso%%am

S 3 o A T ke 9 HIT

(1) =T, I 7 SN

(2) STadA, HaH! A>T SN

(3) TS, Heeh! dYT ST

(4) T, SN YT SR

5) oA |

© 00 Jot 35 T Bt 49 TR 1 7§ | 3 |

e = 1 40, 20, 50 % w9 3 fore e egon |

Sy 3 A 60, 70, 80 Y | T AEAR |
l
|

|
N
|
|
|

(1) 49.33 2 50
(3) 49.5 (4) 48
T+

(G

19

68.

69.

70.

71.

72.

(3
4
5

abets are

ven. Words with five letters x>
grmed fronf "{ﬁ’;};ef given letters.
Then, the number of words Wi
have atleast one repeated letter 1 -
51) 30240 {é) 99748

Ten different letters of alph

3) 99784 4) 69760

5) Question not attempted
the sum

Th “qe .
e probability of getting e dice

as a prime number, when
are thrown together, 18 :

1 5
(1) 3 (2) 12

7 1
3 719 (4) 9
(6) Question not attempted
Recently which app is launched by
Jaipur = Municipal Corporation,

Heritage for citizens to report €c1v1C
issues and government to analyze,
track, manage & solve ?

(1) Jaipur 301 (2) dJaipur 311
(38) Jaipur 315 (4) dJaipur 300
(5) Question not attempted

The pie-chart provided below gives
the distribution of land areas used

for various food crops :
‘ Wheat

Rice

Other Crops

Maize

Choose the correct option from the
following which uses more than
50% of the total area.

1) Rice, Wheat and Sorghum

2) Rice, Maize and Barley

Bajra, Maize and Rice
Wheat, Barley and Sorghum
Question not attempte

The mean of 100 observati

calculated as 49. It was latexja dioslclsovg&si
that three observations taken as 40, 20
50 were actually 60, 70, 80 respectively,

The correct mean 1s

1) 49.33 22; 50
3) 49.5 4) 48
5) Question not attempted
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73.

74.

75.

76.

ct statement witp
Choos;les f;egcgge(}hamdas — Tamoy
regar

Pingla Tiger Rqsel('ive.as 54 Tice
:q notified o= n

(1) {{ slesrve of India 1n Novem or

e
st 1829 sq. km
i ver .

ﬁ 1?sspgﬁ:dtohird largest tigey

reserve in the Country.Pr

It is situated in Madhya Pradesh,

Question not attempted

(2)
3

(4)
(5) ' o
Which of the following Institution
has been engaged' by  the
Competition Commission of India
in 2024, to conduct a market study
on Artificial Intelligence ang
Competition ?

(1) Management  Development
Institute Society

(2) Institute of Rura]
Management, Anand

(3) IIM, Indore

(4) Indian School of Business

(5) Question not attempted

The ‘TRajasthan MSME Policy -
2024’ will remain in force until
which of the following date ?

(1) 31 March, 2030

(2) 31 March, 2029
(3) 31 March, 2031
4) 31 March, 2028

uestion not attempted
Which one _of the following
statement is NOT correct regarding
th Rajasthan Legislative

Assembly by-election — 2024 ?

(1) Out of 7 in 3 assembly
constituencies, the voting
Percentage of women was
gxore than that of men.

voters ough
hom? voting voted throug

aXImum

2
3

] ballot papers for
Service em loyed v%tgrs were

18sued in K}, b
: Invsar assembly
COps.tltuenCy, ar

(4) 0
In by 1
D us};.e

(5)
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82.

83.

84.

85.

|
| gg; ghllbmlesWar(4) Mumbai

the India — NOrw

?)}Yl};?;gssw?gurzld Qtable held g, §n}h’
2024 !
05 New Delhi () Chenng;
: alpur
gg; g[l;l(;.;ggil not attempted

i I has r

. orgamzatlon ecen)
I‘le:llrll(;l}lled an q)pgraded Mobile Apg
i i 0”7
(ls)uwgggr?ame Court of Indig
(2) Central  Bureau

Investigation

(3) Ministry of Aa}{ush
(4) Election Commission of Indi
(6) Question not attempteq

onsider the following statemen;,

Sbout recent(liy Inaugurated Agiy:

largest an world’s hlghest

imaging Cherenkov ObserVatOryy
at I—Falnﬁe, Ladakh :

I. It was inaugurated by Ajit
Kumar Mohani(::y, Ch,alrman,
Atomijc Energy Ommissjop.

II. It is located at an altitude of
5100 metres.

of

ITI. The telescope s built p
abha  Atomic Researcﬁ’
Centre with the support of

lectronic Corporation of India
and other industry partners,
Choose the correct answer from the
options given below :

) I IIand IIT are correct,
dnly I and IIT are correct.
are correct.

4) Only ILand IT are correct.
5 uestion not attempted

Who among the followin from

India, co-chajreq with Mr. Atsushi
SMUra, at the ond India — Japan
nance Dialogye held at Tokyo in
eptember, 2024 ?

lg ammu Ravj

2 Ajay Seth

3) Vlkljam Misri

4) Tuhln_kanta Pandey

5) Question not attempted

The T Editiop

‘ le Top
Xercige of Joint Table

(CINB tween the
Ndilan Army anﬁxzhebec‘gmbodlan
ﬁgm Was helq at -

b (2) Jodhpur

Hestion not attempted
00
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87.

88.

89.

90.

91.

How many medals did India Win a'i
the 2024 ISSF (Internatlonfld
Shooting Sport Federation) Wor
Cup in shooting ?
1) 3

3) b

(5)
Consider the following statements

regarding to 38th National Games
2025 and choose the correct option -

Statement (A) : It will be hosted
by Uttarakhand.

Statement (B) : The National Games
will feature 28 sporting disciplines
and 4 demonstration events.

(1) Only Statement (A) is correct.

(2) Only Statement (B) is correct.

(3) Both Statements (A) and (B)
are incorrect.
(4)

Both Statements (A) and (B)
(5)

are correct.

Question not attempted
How many gold and bronze medals
has Rajasthan won in 5t National
Para Shooting Championship held
at Pune in November 2024 ?
(1) 11 gold and 7 bronze
(2) 16 gold and 7 bronze
(3) 11 gold and 16 bronze
(4) 16 gold and 11 bronze
(5) Question not attempted
Divith Reddy Adull’ winner of

World Cadet Under-8 Championship
2024 is related to which game ?

(1) Chess (2) Table Tennis
(3) Gymnastics (4) Swimming
(5) Question not attempted

2) 4
4) 2
Question not attempted

Khelo India Youth Games 2025
will be hosted by which of the
following state ?

(1) Bihar

(2) Tamil Nadu

(8) Madhya Pradesh

(4) Rajasthan

(5) Question not attempted
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92.

93.

94.

Consider the following statementg
about Rao Chunda of Marwar and
choose the correct option from below -

A. Rao Chunda obtained
Mandore in dowry.

B. Rao Ranmal ascended the
throne immediately after Rao
Chunda’s death.

Only B is true.

A and B both are true.
A and B both are false.
Only A is true.
Question not attempted

(1)
(2)
3)
(4)
(6)

According to “Rao-Jetsi-Ro-
Chhanda”, who among the following

was defeated by Rao Jaitsi, the
ruler of Bikaner ?

(1) Kamran (2) Shershah
(3) Akbar (4) Humayun
(5) Question not attempted

Which of the following was/were
associated in the eéxXcavation of
Ojiyana_?

A. R.C. Agrawal

B.  B.R.Meena

C. Alok Tripathi

Codes :

(1) Only C (2) Aand B

(3 Band(C (4) Only A

(5)  Question not attempted
Which of the following
archaeological sites was 1dentified

by archaeologist T.H. Handley as g
Buddhist town ?

(1) Budha Pushkay

(2) Bairath

(3) Naliasar

(4) Bhandarej
(3)  Question not attempted
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96.

97.

98.

The S.A. Sudhalkar report of 1945
is associated with which of the
following Princely State ?

(1) Bikaner (2) Udaipur
(3) daipur (4) Jodhpur
() Question not attempted

Which of the following statements
is not true regarding Walterkrit
Rajput Hitkarini Sabha ?

(1) It was aimed to make reforms
for Rajputs and Dalits of
Rajasthan.

Its first meeting
organized at Ajmer.
The Sabha made social
regulations to achieve its aims.
It was established in the year
1888, by the efforts of colonel
C.K.M. Walter.

Question not attempted

was

@)
3)
(4)

()

Consider the following statements
related to  Bijolia  Peasant
Movement :

A. Vijay Singh Pathik had gone to
Wardha to meet Gandhiji to
give information regarding the
Bijolia Peasant Movement.

B. Prayags Abhyudaya and
Calcutta’s Bharat  Mitra
newspaper regularly published
news related to the Bijolia
Peasant Movement.

Select the correct answer using the
codes given below :

(1)
@)
3)
(4)
(5)

Only B is correct.

Both A and B are correct.
Neither A nor B is correct.
Only A is correct.
Question not attempted
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Consider the following statement,
about  the folk  instrumep;
‘Chautara’ and choose the correct
option from below :

A, It is a
instrument.

It is generally used in singing
bhajans of Ramdev ji.

Only B is true.

A and B both are true.
A and B both are false.
Only A is true.
Question not attempted

four  stringeq

B.

(1)
(2)
3)
(4)
(5)

Which of the following options is
not rightly matched ?

(1) Bisaldev Raso— N arpati

(2) Khuman Raso — Karnidan

(3) Shatrusal Raso — Dungarsingh
(4)  Prithvi Raj Raso— Chandarbardaj
(5) Question not attempted

Match List — I with List — II
regarding famous painting styles
and their painters of Rajasthan
and select the correct option :

List -1 List - II
A. Kishangarh i. Sahibdeen
B. Bikaner 1. Nihalchand
C. Mewar 1i. Ali Raza
D. Marwar iv. Shivdas
Codes :

A B C D
1) 4 W i iy
(2 1 i oiv i
@ i i i v
4) 1H iv i il

(5) Question not attempted

The famous temple built by Mathandev
at Rajorgarh was dedicated to
which of the following deities ?

(1) Vishnu

(2) Surya

(3) Mahishasur Mardini

(4) Shiva

(5)  Question not attempted
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103.

104.

105.

106.

Which of the following colours 18
‘Kasumal’, which is used in the
costumes of Rajasthan ?

(1) Yellow (2) Pink

(3) Saffron (4) Red

(5) Question not attempted

ments
Prime
the

Consider the following state

about Matsya Union’s

Minister Shobaram and choose

correct option from below :

A. He left his legal profession

‘ during the Non-Cooperation
Movement.

B. He was the member of the

Cabinet of Heeralal Shastri.

Only B is true.

A and B both are true.

A and B both are false.

Only A is true.

(5) Question not attempted

For which of the following the
words Aadi (378}, Hiyali (&rarett) are
popular in Rajasthani language ?
(1) Proverb (2) Phad

(3) Riddles (4) Idioms

(5) Question not attempted
Consider the following statements
about Saint Laldas and choose the
correct option from below :

M
)
@)
(4)

A. Saint Laldas remained
unmarried throughout his
life.

B. After the death of Saint

Laldas, a temple was built at
his Samadhi place.

Only B is true.

A and B both are true.

A and B both are false.

Only A is true.

Question not attempted

ey
()
@)
4)
(5)
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Consider the following statementg
about Stupas and choose the
correct option from below :

A. The word ‘Stupa’ is g
architectural term and meang
something which is raised up
by accumulation.

B. The custom of erecting

‘Stupas’ as a form of memoria]

to the dead was pre-Buddhist.

Only B is true.

A and B both are true.

A and B both are false.

Only A is true.

Question not attempted

(1)
(2)
(3)
(4)
()

Which of the following Buddhist
texts were written in Sanskrit
language ? Choose the correct option
from below :

A. Divyavadan

B. Deepvansha

C. Mahavansha

D. Aryamanjushree Moolkalp
1) B,C 2 AD

3) AC 4 AB

(5) Question not attempted

Consider the following statements
related to Aajivaka Sect

A. Belief in Determinism

B. The order of reincarnation
can be changed.

C. Beliefin Austerity

Select the correct answer using the
codes given below :

Codes :

(1) Only B is correct.

(2) A and B are correct,

(3) A and C are correct.

(4) Only A is correct.

(5) Question not attempted

Which of the following titles was
adopted by the Kadphises Second
of Kushan dynasty ?

(1) Sarvalokeshwar
(2) Mahakshatrap
(3) Singh Chandra
(4) Sakari
(5) Question not attempted
00
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113.

Which of the following statemers
is not correct regarding the Bhakt1
Movement ?

(1) Nimbarka propounded
Philosophy of Dvaitadvait.
Madhvacharya propounded
Nirguna Bhakti Siddhant
instead of Saguna Bhakti.
Ramananda advocated Ram2
Bhakti.
Vallabhacharya
Pushtimarga.
(5) Question not attempted

Who painted the famous image of
Bharat Mata to visually associate
the identity of India, as a Nation ?
(1) Abnindranath

(2) Bankim Chandra

(3) Rabindranath Tagore

(4) Gagnendranath

(5) Question not attempted

the

(2)

©)

4) established

In which language did the poet
Mallanarya write the texts named
“Bhava Chinta Ratna” and
“Veerasaivamrita” in the court of
Krishandev Ray ?
(1) Tamil (2) Telugu
(3) Kannada (4) Sanskrit
(5) Question not attempted
Which of the following monuments
were built by Emperor Shershah ?
A. Sasaram Tomb
Kila-E-Kuhn Mosque
Tomb of Sikandara
Jama Masjid
A C 2 AD
B,D 4 AB
Question not attempted
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115. Match List — I with List — II and
select the correct answer by using
the codes given below :

List - I List - IT
(Desert) (Location)
A. Gobi i. Southern Africa
B. Patagonia ii. Asia
C. Victoria  iii. South America
D. Kalahari 1iv. Australia
Codes :
A B C D
1) iv i i i
2) i i il iv
B3) i iv i ii
4) i i v i
(5) Question not attempted
116. Which is not an area of

‘Mediterranean type of Agriculture ?
(1) Central Chile

(2) Northern Australia

(3) Southern part of South Africa
(4) California

(5) Question not attempted

Read the following statements related
to the liberal phase of Indian National
Movement (1885 — 1905 A.D.) :

A. Supported the rich democratic
and ‘scientific culture of
modern Europe.

Strongly criticized the
Economic aspect of British
imperialism.

Select the correct answer using the
codes given below :

(1) Only Bis true.

(2) Both A and B are true.

(3) Neither A nor B is true.

(4) Only A is true.

(5) Question not attempted

117.

B.

118. Who among the following was

appointed as the chairman of

Secondary Education Commission
by Government of India in 1952 ?

(1) D.S. Kothari

(2) P.C. Mahalanobis

(3) Laxman Swami Mudaliar

(4) S. Radhakrishnan

(5) Question not attempted
00



119. PR B H Y P T e w7 | 119. Which one  of _the following

(1) ﬁza'rqr.mﬁ T ¢ N statements is not correct ?
a9t e 8 & T i A (1) The  retreating monsoon
' causes some rains in the
(2) ufed fauy AR ¥ I B § | coastal areas of Tamil Nadu.
(3) "HER fwm (M A (2) The western disturbances
ST (U.S AE onex) HEI;H T K/Irigdinate from the
S.A.) TUT YR &% HYF editerranean Sea.
A S Y N (3) The Monsoon Expedition
@) IdAadH Wﬂwm% (1}\lflonqx) was organized fl'm‘g}?r
o IR | the joint auspices of tne
(5) IFARa ¥ g}listeﬁ) St;tlesd_ of America
.S.A.) and India.
20. I - g&ﬁ:‘ﬁzﬁﬁ—a (4) The variability of rainfall at
(1/ gﬁ ?_';H q = Chennai is more than that o
Fo ) wETar & T FR IR : Mumbai.
@_1 @-II (5) Question not attempted
(SEEH-T)) &) 120. Match List — I with List — II and
A Tl i S se}iect the cog‘riect answer using the
) . codes given below :
B. fawm i, List - I List - II
N (Tributary) (River)
Cc. fam n. A A. Rapti i.  Brahmaputra
D. ot iv. e B. Tista ii. Narmada
w2 by : ](:3) II;Iiran iii. 8<l)1da\171rari
. Purna iv. aghra
A B C D Codes :
1 1 i i v ¢ ' A B D
(2 i 1 1w ii 1 i 1 m iv
@ iv 1 1 il (2) i 1 iv. 1
(4) iv i 1w i 83 iv i i m
st : iv. 1 o 1
(5) = ] (5) Question not attempted
\}21- foea & fopmr =7 @S q EIEI”? xal_; e { 121, In which forest zone of the world
3iftpq RPN TR 7 highest ?deforestation has been
‘Ll) gomHfeada (2) ‘E, S | ff;:or%‘ig}:;ical
(3) wad @ HEr EZ; %avalna Deciduous
ﬁﬂf@ , ‘ 3 ida
(5) = (4) Coniferous
122, Frefafad ada AR 1 I J ftqur | (5) Question not attempted
Hﬁ%’qW%? : | 122. What is the correct order of the
AT following mountain ranges fro
A Ted@ B ‘ jI;Iorth t(‘):i Sﬁuth ? "
FTHH D. &Rl . Ladakh B. Shiwalik
‘;.2 | 8 q Karakoram D. Zaskar
: odes :
& Dp,GAB @ CAD B | @ DGCAB @ CADB
@ CBAD & ACE p | @@ CBAD (4 ACBD
&) :ﬂljﬁﬁa S | (5) Question not attempted
31 +
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Consider the following statementg :
A. Luni Basin and Shekhawat;
region are the Sub-regiong of
Rajasthan Bangar.

Ghaggar Plain covers mostly
Hanumangarh and
Ganganagar district.

Nagaur uplands have salty
lakes and inland drainage.
Aravalli ranges are rich in a]]
types of minerals.

Select the correct answer using the
codes given below :

Codes :

(1) A, BandC (2) B,CandD
(3) ABCandD(4) AandB

(5) Question not attempted

Which of the following group of

districts of Rajasthan is correctly

arranged in ascending order as per

average rainfall during South-West

Monsoon ?

(1) Jaisalmer, Banswara,
Rajsamand

(2) Nagaur, Dhaulpur, Ajmer

(3) Churu, Baran, Bhilwara

(4) Jalore, Jaipur, Kota

(5) Question not attempted

Which is not a correct match ?

B.

C.
D.

Nuclear State
Power Plant
(1) Kakrapar — Gujarat
(2) Kaiga — Tamil Nadu
(3) Narora — Uttar Pradesh
(4) Kalpakkam — Tamil Nadu

(5) Question not attempted

The four segments of the Golden™

Quadrilateral
cities :
A.  Delhi - Mumbai

. Mumbai — Chennai
C. Chennai - Kolkata
D. Kolkata — Delhi
Consider the length of the above
sefments in descending order and
select the correct answer using the
codes given below :

join the following

Codes :
() C,D,BA (2 D,C,B,A
(3 D,C,A/B (4) C,D,AB

(5) Question not attempted
00
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130.
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127.

128.

129.

130.

In the year 2021-22, contribution of
Rajasthan in total production of Bajra
in the country (in percentage) was

(1) 87.69 (2) 38.98

(3) 34.69 (4) 46.30

(5) Question not attempted
Medtech Medical Devices Park is
located at

(1) Maal Ki Toos, Udaipur

(2) Nainwa, Bundi

(3) Boranada, J odhpur (undivided)
(4) Ganeshwar Extension, Sikar
(5) Question not attempted

In which district of Rajasthan
‘Khadin’ is a popular method of
water conservation ?

(1) Bikaner (2) Jaisalmer
(3) Pali (4) Nagaur

(5) Question not attempted

Match List — I with List — II and
select the correct answer from the
codes given below :
List -1
(District)
A. Udaipur i Sabi& Ruparel
B. Bundi ii. Gambhiri & Parvati
C. Bharatpur iii. Som & Jakham
D. Alwar iv. Kural
Codes:
A B
iv 1l
i i
i v 1 1
i v 1 11
Question not attempted

List - II
(River)

D
1
v

C
11
1

(1)
2
(3
(4)
)

. Which type of soil is dominant in

Jaipur, Dausa and Alwar districts ?
(1) Inceptisols (2) Vertisols
(3) Alfisols (4) Entisol

(5) Question not attempted
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132.

133.

134.

135.

136.

137.

The most important resources of
lignite in Rajasthan are located gt
(1) Palana, Kasnau and Jagpura
(2) Kapurdi, Merta and Kasnay
(3) Kapurdi, Palana and Jagpura
(4) Palana, Agucha and Merta

(5) Question not attempted
Which is not a correct match ? .
Conservation District
Reserve (as on
May 2023) '
(1) Mansamata — Jhunjhunu
(2) Sorsan — Bundi
(3) Hamirgarh — Bhilwara
(4) Rankhar — Jalore

(6) Question not attempted

Mount Abu and Ranakpur are
included in which tourist circuit ?
(1) Shekhawati (2) Godwar

(8) Mewar (4) Dhundhar
(5) Question not attempted

The national executive of which
political party called for the
dissolution of the Constituent

Assembly and it re-election by
adult suffrage ?

(1) Socialist Party

Swaraj Party

Muslim League

Hindu Mahasabhg
Question not attempted

The correct descending order of

distric_ts in Rajasthan based on
Eo;;al literacy rate (census 2011) is
1

(4)

Kota, Jaipur, Jhunjhunu,
Sikar, Alwar

(2) Jhunjhuny, Kota,  Sikar,
Jaipur, Alwar

(3) Kota, Jhunjhuny, Jaipur,
war, Sikar

4) alpur, Jhunjhuny, Kota,
1kar, Alwar

(5) uestion not attempted

At which of

he following places,
asbestos mines gre located in
Rajasthan 9

1) Kura ang Mangol

(?) arpura and Fatehgarh
(3) epura and Dingri

(4)  Arjunpurg and Piparda
(5)  Question Not attempted

00
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A, sfomdisam i 424t guned
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- (5) IFgaRa¥E

L

00

weq tifere  HAfRR *ad WRA b
it <Y I & 7

(1) 3% 15, 21, 25 3R 28

2) =85 20, 21, 26 3R 30

3) < 15, 16, 19 3 30

4) ST 14, 20, 23 3 30

(5) EA@TH

14o.ﬁn%maﬁﬁasﬁ?ﬁwmvl

138.

1
139.

140.

In which year it was inserted 1in
the Constitution of India that the
State shall secure free legal aid t.o
any citizen by reason of economicC
or other disabilities ?

(1) 1976 ) 1975
(3) 1979 (4) 1978
(6) Question not attempted

Match List-A with List-B and
identify the correct answer from

the codes given below :

List-A List-B
(Case) (Amendment
challenged)
Indira Gandhi V. i. 42nd
Raj Narain Amendment
Minerva Mills ii. 52nd
V. Union of India Amendment

Kihoto Hollohan iii. 39tk
V. Zachillu Amendment

. P. Sambamurthy iv. 32nd

V. State of A.P. Amendment

Codes:
A

it

D

iv

_ C
(o)) i
(2
3
4
(5)
Fundamental Rights provided by
which of the following groups of

Articles are granted only to
‘Citizens’ of India ?

(1) Articles 15, 21, 25 and 28

(2) Articles 20, 21, 25 and 30

(8) Articles 15, 16, 19 and 30

(4) Articles 14, 20, 23 and 30

(5) Question not attempted

B

iv i i 1
il 1 1 iv
i i 1 1

Question not attempted
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141. Which of the following statement is
incorrect regarding the election of
the President of India ?

(1)

)

@)

(4)

(6)

Value of vote for each of the
members of the
College is decided based op
the population census of 1971

Electora]

and it will continue to be g
till population of the first
census taken after the year
2026 have been published.

The elections are held in
accordance with the system of
Proportional
by
transferable vote.

Representation
means of single
Every elected member of the
Legislative Assembly of a
State shall have as many
votes as there are multiples of
one hundred in the quotient
obtained by dividing the
population of the State by the
total number of the elected
members of the Assembly.

The President of India is
elected by the members of an
Electoral College consisting of
(a) the elected members of both
the Houses of Parliament and
(b) the elected members of the
Legislative Assemblies of the
States and the Union Territories
with Legislative Assembly.

Question not attempted

00
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142.

143.

Which of the following gtatements
the

regarding _the ~powers =0
apeaker of Lok Sabha are correct ?
hoose the correct answer from the
codes given below : _
(1) he speaker resides over a
joint sitting o both the houses
of Parliament. . .
(ii) When a Money Bill 18
transferred from the Lower
House to the Upper House
the speaker shall endorse on
the bill his certificate that 1t
is a Money Bill. .
(ili) While a resolution for his
removal is under consideration,
the speaker shall neither
preside nor take part in 1ts
roceedings. _
@iv) The I_sipeaker does not vote 1n
the House except when there
is equality of votes.
Codes :
(1) Only (i) and (i)
(2) Only (i), (1) and (iv)
(3) Only (i), (i) and (ii)

(4) Only @) and (ii1)
(5) Question not attempted

Identify the _correct statement
re%arding the Election Commission
of India.

(1) The concept of multi-member
Commission has been in
operation since 1995 with
decision making power by
majority vote.

Under the Constitution, the
Commission also has advisory
jurisdiction in the matter of
post election disqualification of
 sitting members of Parliament
and State Legislatures.
The President appoints Chief
Election Commissioner and
Election Commissioners and
they have tenure of five years,
or up to the age of 60 years,
whichever is earlier. \
Election Commission of India is
a permanent Constitutional
Body and it was established in
accordance with the Constitution
on 25t January, 1952.
Question not attempted

2)

3)

(4)

(6)
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(5)

144.

145.

146.

Consider the following statementg

and identify the correct answe,

from the codes given below :

(a) The Congress won 145 Lok
Sabha seats in 2004 election,

(b) The BJP won 133 Lok Sabhg
seats in 2004 election.

(c0 The CPI(M) won 48 Lok
Sabha seats in 2004 election.

Codes :

(1) Only (a) and (b) are correct.

(2) Only (b) and (c) are correct.

(3) Only (a) and (c) are correct.

(4) Only (a) is correct.

(5) Question not attempted

The Central Vigilance Commission

was formed on the basis of the

recommendations of which of the

following committee ?

(1) Kelkar Committee

(2) Swaran Singh Committee

(3) Bakshi Tek Chand Committee

(4) Santhanam Committee

(5) Question not attempted

Which of the following is a matter

on which the Finance Commission

notified by the Ministry of Finance
on 31st December, 2023 shall not
make its recommendation ?

(1) The principles which should
govern the grants-in-aid of
the revenues of the States out
of the Consolidated Fund of
India.

The measures needed to
augment the Consolidated
Fund of a State to supplement
the resources of the Panchayats
and Municipalities.

Review the present
arrangements on Financing
Climate Management initiatives.
The distribution between the
Union and the States of the
net proceeds of taxes which
are to be or may be divided
between them under Chapter
I Part XII of the Constitution.

Question not attempted

)

3)

4)

(5)
00



147, T
y  UNTH
Y | 147
. AS
of the
end of the N
mber 202
. 4

v
qﬁvftqg
El) %’T"i T afgemt
3) %ﬁaz .
off
148,;5;%;?'&53 (2) %F;?«T
9T (4)
ﬁqﬂ \ WB
(1 ‘iﬁ‘ﬁﬂ%mﬁ 1o }ﬁow ma
) aﬁﬁ?’ﬁqm faum | asthan Co
Loy “%?%u;&“ﬁq;m 3 snfie '}% 8n31; golilrlli?l ware th
@ o sh%m‘:gﬂ?‘r 148, Whi Quost, E%M%‘iset?imthe
ST # AT b i Which of Pon not at nly 57
ki e, it et o e 3
le ect fo att 1
) Wm . *» gislati Nowi em y1
A wehla IS| ] g1 fer Ass lation g ar(()f?"mg pted
N\ (3) 3 ﬁm% it (1) embly ? n din state
;gdmﬁ g £l % g‘hey A ajast ans‘igo%?gt is
. H—mﬁ . 0) .
Wmﬂ & dzowsio:ln mitte gisla ate
MK T (2) le 8 e tiv
(4) Sr By F S gate O Bills wi e
m % a;ﬁ m peak pOW s W y examin
LIELIC ﬁu-liq 240 3R ?i%liltalgll'n erit? m}:ﬁh seek. tg
| ewati g e e
mm @ mm Hﬁmm @) mgﬁtlon proew’/ris- orders.
I TR 8 rs to of sion Bill
T *maﬁ T % * Rules ¢ to the Com logi for
& e I SRy 2 fog-fprffcb Rmmitteilativé
149 i &t e & LIS @) Legis] iness. it} e 240 C
. T 5= i) o e Catlve Asm thand Coof the
Ly e i Rk E‘egisﬁ?mitteseembf Rejasthan
g TR # Fwiierd Orap;OViSionedm ubordinate
2 ""meﬁm? & O Pondmate of the cons all
W = a 149 (5) suCho ate dele a%gOnsma.nce Of
H ﬁﬁmﬁﬁ' e | 'Whicﬁueség‘er- authority g
o eI 1 Bl 1 Ao not co of th n not to mrto
3) w0 qgell qIFT , of R Orre e foll atte ak
B o M a?FStﬁt Fegarding mpted e
202 fpaTa . ﬁﬂﬂg he i?ln . rdjnggtstatem
4 B U , was stituti he G ent 1
(4 eI T RRUSLIE E| C ab utio ove 18
) TH ATt ¥ 31 ST @) Gonstit O,IiShn of Raj rnor
qufaq I TSIITA uru utlona(lad b ajpram
ATUR 3T ' ‘ a imukh am y ukh
1 () 313-;;;[1 ' %Waﬁm I 3) Novernor of as Singﬁt-
150. frefii g T | o Pt 19%%"%%‘* first
a(l) Qﬁﬁgw W | I On Jasthanomce of o
@ ' g@—q—.‘\’"““ 3, srftream | Coeomime: on 31 the GoBagd
)y  SEATEY 51 AT Roorganis: basi Jul vernor
6] ot | th rgani dati sis y, 202 or
) R bk ? welnst'lsati ion of of a
(4) e | 150 6) Que RSt tion of the th
e S . Whi QueSt'OliShloh of o e N
(5) I fa ch of ion ed. Raio: issi es
SO faced ol ihe X not a pramukt
a9 | or MAXi p ouowmtten ﬂ“kh'
| > %muient's R e
: Jh-airo;,n‘!mbé ° ‘mef Minis
| 3 ai N Singh | f i
2 o ara ingh St B hapasth r
iv C ya Sh es? an
3 Hari h nV ekh /
Que1 Dev j‘ 1 atsh wat
stion ng:hi ur
attempt
ed
L





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

